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Dear Children

I hope you are keeping warm and safe during the cold, icy weather and | hope it will not be too long before we are
back at school enjoying learning.

Owing to the fact that school is closed | thought it best to write to you with information about homework tasks so you
can continue with your learning at home. So please read the lists of tasks carefully and do your best to complete
them to a high standard.

The homework set on Monday, 26" February to do with ‘Safety week’ will now be due in on Wednesday to give you
some extra time. The new homework is also due in by Wednesday

NURSERY & RECEPTION

e Read every day with an adult and keep going over your phonics, number bonds to 10 and handwriting
e Create a poster on ‘how to keep safe in the snow’

KS1 & KS2

e READING - Read daily and write a brief summary of what you have read in your reading record book.

e WRITING = Title: ‘EMMA A BEAST FROM THE EAST’
Use the above title and choose from any one of the following genres: Story (narrative) , poem,
newspaper report or an explanation.

Make sure you apply excellent writing skills to make your work interesting. Remember to use clear
punctuation, exciting vocabulary and organise your writing into clear paragraphs that link. Please write your
name and year group clearly on your work. You may email your work to the school office if you wish.

e MATHS
Keep learning your times tables for a test next week

Challenge question — See the attached sheets for your year group — Choose one or more task to
complete

If you are in Year 6 you need to continue with the work Miss Milmoe set for you earlier on in the week
and keep revising your Maths and English skills.

I look forward to seeing you next week and remember to keep warm safe.

Yours sincerely

7 -
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Mrs Fernandes
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Mastery with Greater Depti

GIEEEE)

Use twwo of the digit cards to make a numiber greater tham SO
KS]- TAKS Use twwo of the digit cards to make a number less than 300

Use twwo of the digit cards to make an odd even muarmibben,
I T— Use two of the digit cards to make = number between 47 and S9.
Write the numbers in order of size. wWhat is the smallest 2-digit mumiber you camn make?
Wwhat is the largest 2-digit mumiber youwu can make?
15|16 ] 5 | 71

50 | Explaimn your reasornimng.-
WWhiich mnuamibeer cowuld be the odd ome owut? Wkbne?

| a0 | 71 | &5 |

What is one more than...?

What is one less than...?

Complete: Pupils suagagest tiheir owersy e dadl =T rryadle 7T o rmighit be thve odd one ot
P - EBrecawuse it’s ot a rmvenftiple of 5.
19 21 22 ' Sarm says 30 is the odd one owut. What reasons did she give?
' Pupils suagagest tiheir owersy e dadl =T rrypaile <0 gt be thve odd one ot

bBecawse it’s ot arny odd roerrrier
What's the same? Whats different?

Write 25 in the correct place on the number grid.

| as | sa |
8 9 10|11 |12 | 13
If Sam places thhese S numbers in order, startimg with the smallest numiber, wihich
14 15 16 17 . murmiber wrill be imn fowrth positiomn?

“3S S} 29 2 S50

Write the numbers missing from these sequences.
Mastery Mastery with Greater Depth
| mn | 13114 | 15 | Pupils use a bar model to explore addition and subtraction facts and the relationship | Fill in the missing numbers. What do you notice?
between them.
- — 27 12 15
— 47
43 15 ? ?

Using the bar model complete the four number sentences.

+

37 23 14

+

BN

NN

13 14 57
15 ?

=~

Dan needs 80 g of sugar for his recipe. There are 45 g left in the bag. How much Together Jack and Sam have £12.
more does he need to get? Jack has £2 more than Sam.

H h does Sam have?
The temperature was 26 degrees in the morning and 11 degrees colder in the W IUCh Money does >am have

evening. What was the temperature in the evening? A bar model can be vety helpful in solving these types of problems.
A tub contains 24 coins. 5aj takes 5 coins. Joss takes 10 coins. How many coins are Jack - +£2
left in the tub? £12

-

£12-£2=£10

£10+2=£5

Sam has £5




KS2 TASKS - Y3 & Y4

Mastery Mastery with Greater Depth

Whatis 3 x 47 Make up a problem for 13 x 4 and solve it.
What is 13 x 47 Write a story for 18 + 3.

Asking How did you get that? can help you decide whether children are working
efficiently with questions like 13 x 4 by, for example, calculating 10 x 4 and adding 3 x
4, and that 3 x 4 is not obtained by counting in 1s.

Roger is laying tiles. Roger has 96 patio slabs.

He has 84 tiles altogether. Using all of the slabs find three
How many complete rows of different ways that he can

tiles can he make? arrange the slabs to form a

rectangular patio.

Complete the following: 5 -12 4 =20 B Putting the digits 1, 2 and 3 in the empty boxes, how
* |:| . D |:| |:| . |:|_ ! many different calculations can you make?

|:| X3 =15 8x |:| =24 Which one gives the largest answer?
Which one gives the smallest answer?

Use a column method to calculate the following: Find the missing digits. |:| I:l I:l
2 2 1 4

123x3 324 x4 234x 8
s ox L]« [
176 112 7 3 6




Y3 & Y4

Mastery Mastery with Greater Depth

Three children calculated 7 x 6 in different ways. Multiply a number by itself and then make one factor one more and the other one
Identify each strategy and complete the calculations. less. What happens to the product?
E.g.
Annie Bertie Cara used the 4i4= 16 6x6=36
7x6=7x5+|:| ITx6=7%7- commutative law 5%3=15 7x5=35
- - 7x6= |:| X |:|
- I:l What do you notice? Will this always happen?

Now find the answer to 6 x 9 in three different ways.

Tom ate 9 grapes at the picnic. Sam ate 3 times as many grapes as Tom. Sally has 9 times as many football cards as Sam. Together they have 150 cards.
How many grapes did they eat altogether? How many more cards does Sally have than Sam?
The bar model is a useful scaffold to develop fluency in this type of question. The bar model is a useful scaffold to develop fluency in this type of question.
Y5 & Y6
Mastery Mastery with Greater Depth
Put the following numbers on a number line: Suggest a fraction that could be at point A, a decimal that could be at point B and
%, %, 05, 1-25,3 = 8, 0-125 an improper fraction that could be at point C on this number line.
I } I
o 11T T3
A B C
On Monday | ran I%km and on Tuesday | ran 253 km. Altogether on Monday and Tuesday | ran 3% km. On neither day did | run a whole
How far did | run altogether on these two days? number of km.

Suggest how far | ran on Monday and how far on Tuesday.
On Wednesday | ran 1_% km and my sister ran 2% km.

How much further did my sister run than | did? On Wednesday | ran some km and my sister ran l% km further than | did.
Altogether we ran 43 km.

How far did | run on Wednesday?




Mastery Mastery with Greater Depth

Write four number facts that this bar diagram shows. Use this number sentence to write down three more pairs of decimal numbers
= that sumto 3:
16+14=3
38 | 57 Y5 &
Y6
LI+ =[]
L J+L J=[]
Captain Conjecture says,'When working with whole Captain Conjecture says, 'If you keep subtracting 3 from 397 you
numbers, if you add two 2-digit numbers together the will eventually reach 0!
answer cannot be a 4-digit number’
Do you agree?
Do you agree? Explain your reasoning.

Explain your reasoning.

Mastery Mastery with Greater Depth

Three children calculated 7 x 6in different ways. Multiply a number by itself and then make one factor one more and the other one
Identify each strateqy and complete the calculations. less. What happens to the product?
Eg.

Annie Bertie Caraused the 4x4=16 6x6=36

7x6=7x5+|] 7x6=7x7-D commutative law £x3=15 7%5235

} D N D 71x6= D X D

. D What do you notice? Will this always happen?

Now find the answer to 6 x 9in three different ways.
Tom ate 9 grapes at the picnic. Sam ate 3 times as many grapes as Tom. Sally has 9 times as many football cards as Sam. Together they have 150 cards.
How many grapes did they eat altogether? How many more cards does Sally have than Sam?

The bar model s a useful scaffold to develop fluency in this type of question. The bar model is a useful scaffold to develop fluency in this type of question.




Mastery Mastery with Greater Depth

Which of the following statements do you agree with? Explain your decisions.
m The value 5 satisfies the symbol sentence 3 x[_|+2=17

= The value 7 satisfies the symbol sentence 3 +[_|x2=10+[_]

m The value 6 solves the equation 20 -x=10

® The value 5 solves the equation 20 + x=x-1

Which of the following statements do you agree with? Explain your decisions.
m There is a whole number that satisfies the symbol sentence 5 x D -3=42
® There is a whole number that satisfies the symbol sentence 5 +[ | x3=42
m There is a whole number that solves the equation 10 - x=4x

m There is a whole number that solves the equation 20 < x=x

| am going to buy some 10p stamps and some 11p stamps.

| want to spend exactly 93p. Write this as a symbol sentence and find whole
number values that satisfy your sentence.

Now tell me how many of each stamp | should buy.

| want to spend exactly £1-93. Write this as a symbol sentence and find whole
number values that satisfy your sentence.

Now tell me how many of each stamp | should buy.

| am going to buy some 11p stamps and some 17p stamps.
| want to spend exactly 95p. Write this as a symbol sentence and find whole
number values that satisfy your sentence.

Now tell me how many of each stamp | should buy.

I want to spend exactly £1-95. Write this as a symbol sentence and find whole
number values that satisfy your sentence.

Now tell me how many of each stamp | should buy.
| want to spend exactly £1-59. Write this as a symbol number sentence.

Can you convince yourself that you can't find whole number values that satisfy
your symbol sentence?

Explain your reasoning.







